| In | Out |
|------|------|
| A) 1 | A) 2 |
| B) 0 | B) 1 |

Inmates by Facility: WCSO: 48 D&E: 0 Other: 0 TOTAL: 48

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|---|--|------------------|-------------------------------------|----------|--------|---|
| 1 | Wright, Dawson R. BPD | Burglary, Terroristic Threats, Strangulation, Attempt of Class 2 Felony, False Imprisonment, Child Abuse, Obstructing Police | 09-02-24 2258 | WCSO 01-07-25 | 01-25-99 | | \$1,000,000.00 10% \$100,000.00 |
| 2 | Stump, Gabriel C. BPD | DUI 2 nd Refusal of Data Master, Stolen Firearm, Resisting Arrest, Obstruct Police Officer, CCW, Carry Concealed Handgun Consumption of Alcohol. | 10-24-24 1942 | WCSO | 12-13-01 | | \$125,000.00 10% \$12,500.00 |
| 3 | Houghtelling, Adam N. WCSO | DUR, DUI 3 rd , Refusal of PBT, Refusal of Datamaster | 12-15-24 1531 | WCSO | 12-05-82 | | \$30,000.00 10% \$3,000.00 |
| 4 | Fries, Barry J. WCSO | DUS, Resisting Arrest, Obstruction | 12-16-24 2303 | WCSO 01-08-25 | 01-21-61 | | \$11,000.00 10% \$1,100.00 |
| 5 | Kopf, Brandon J. WCSO / Cass Co Hold | Warrant- Theft by Deception, Theft by Unlawful Taking, Cass Co Warrant- FTA | 12-13-24 1010 | WCSO | 11-05-84 | | \$9,000.00 10% \$900.00 Cass Co- \$5,000.00 10% \$500.00 |
| 6 | Collins, William P. WCSO | Warrant- Burglary, 1 st Degree Assault, Theft by Unlawful Taking, 1 st Degree Murder, Stolen Firearm Prohibited Act, Use of A Deadly Weapon to Commit Felony x2 | 09-14-23 1723 | WCSO | 07-25-93 | | NO BOND |
| 7 | Williams, Kierre L. WCSO | 1 st Degree Murder, Use of a Weapon to Commit a Felony | 12-10-23 1443 | WCSO | 08-02-80 | | NO BOND |
| 8 | Black, Rodney L. WCSO / Sentenced | Contributing to the Delinquency of a Minor | 12-23-24 1120 | WCSO | 05-08-02 | | Release Date Sentenced 10 Days |
| 9 | Jordan, Syles J. WCSO / Sentenced | Probation Violation | 10-07-24 0914 | WCSO | 01-18-01 | | Release Date 02-20-25 @ 0800 |
| 10 | Allen, Andrew J. BPD / Sentenced | Warrant- FTA for Probation Violation | 07-11-24 1007 | WCSO | 05-20-82 | | Release Date 07-16-25 @ 0800 |
| 11 | Overton, Larry J. Burt Co | Burt Co- Poss. of a Deadly Weapon x2, Unlawful Discharge of Firearm, 3 rd Degree Domestic Assault, Criminal Mischief | 12-07-24 1920 | WCSO | 01-12-85 | | \$50,000.00 10% \$5,000.00 |
| 12 | Fannon, James O. Burt Co | Burt Co Warrant- Failure to Pay Child Support | 10-09-24 1046 | WCSO | 09-03-74 | | Release Date 01-04-25 @ 0800 Purge Amount \$3,305.75 Cash |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|--|---|------------------|-------------------------------------|----------|--------|---|
| 13 | Cummins, Desiree D. Dodge Co | Dodge Co Warrant- FTA for Status Hearing | 11-15-24 1801 | WCSO | 09-19-88 | | \$100,000.00 10% \$10,000.00 |
| 14 | Boschult, Jenna M. Dodge Co | Dodge Co- Terroristic Threats, 1 st Degree False Imprisonment | 11-17-24 0847 | WCSO | 01-05-91 | | \$80,000.00 10% \$8,000.00 |
| 15 | Solberg, Victoria Dodge Co | Dodge Co- Resisting Officer, Assault on Officer, Trespassing, Assault w/ Bodily Fluids, Disorderly Conduct | 12-14-24 1402 | WCSO | 03-23-90 | | \$25,000.00 10% \$2,500.00 |
| 16 | Jones, Chelsea M. Dodge Co | Dodge Co- Poss. Controlled Substance | 12-15-24 1646 | WCSO | 08-16-89 | | \$15,000.00 10% \$1,500.00 |
| 17 | Stuart, Tammie M. Dodge Co | Dodge Co Warrant- FTA x2 | 12-15-24 1604 | WCSO | 06-04-71 | | \$9,000.00 10% \$900.00 \$17.00 Cash |
| 18 | Reiser, Alissa M. Dodge Co | Dodge Co- Poss. Controlled Substance | 12-16-24 1528 | WCSO | 09-28-84 | | \$5,000.00 10% \$500.00 |
| 19 | McKay, Latasha D. Dodge Co. | Dodge Co- Poss. Controlled Substance | 12-22-24 1425 | WCSO | 03-12-86 | | NO BOND |
| 20 | Brandenburg, Amber L. Dodge Co | Dodge Co- Drug Court Sanction | 12-18-24 2012 | WCSO | 12-17-90 | | NO BOND |
| 21 | Hermeling, Elizabeth S. Dodge Co | Dodge Co- Use of Weapon to Commit a Felony, Terroristic Threats | 10-30-24 0848 | WCSO | 09-26-06 | | NO BOND |
| 22 | Herrera, Lukmillia H. Dodge Co | Dodge Co Warrant - Tampering w/ Evidence, Accessory to Class 2 or 2A Felony | 11-14-24 2014 | WCSO | 04-14-66 | | NO BOND |
| 23 | Epp, Rochelle K. Lancaster Co | Lancaster Co- Poss. w/ Intent to Deliver, Poss. Money While Violating | 11-05-24 1033 | WCSO | 05-18-72 | | \$250,000.00 10% \$25,000.00 |
| 24 | Knutson, Leticia M. Lancaster Co | Lancaster Co- Poss. w/ Intent to Deliver, Poss. Money While Violating, Assault | 11-22-24 1111 | WCSO | 11-17-80 | | \$200,000 10% \$20,000.00 \$25,000.00 10% \$2,500.00 |

Signed:

| | Name | Charges | Received Time | Housed/ Scheduled Court Date | DOB | P O | Bond Amount/ Release Date |
|----|---|---|------------------|------------------------------------|----------|--------|---|
| 25 | Patak, Stephanie M. Lancaster Co | Lancaster Co- Poss. Controlled Substance, Poss. Firearm by Prohibited Person | 06-06-24 1544 | WCSO | 05-21-78 | | \$100,000.00 10% \$10,000.00 |
| 26 | Barker, Breeana E. Lancaster Co | Lancaster Co- Poss. w/ Intent to Deliver | 08-20-24 1021 | WCSO 02-03-25 | 02-07-98 | | \$100,000.00 10% \$10,000.00 |
| 27 | Stone, Alexis L. Lancaster Co | Lancaster Co Warrant- Possession of Controlled Substance X3 | 12-20-24 1426 | WCSO | 12-17-94 | | \$20,000.00 10% \$2,000.00 |
| 28 | Clark, Brittney A. Lancaster Co | Lancaster Co- Child Abuse, 3 rd Degree Assault on Healthcare Prof. | 12-06-24 1035 | WCSO | 09-03-97 | | \$10,000.00 10% \$1,000.00 |
| 29 | Gitschel, Tabitha A. Lancaster Co | Lancaster Co Warrant- Crim. Poss. of Financial Transaction Device | 12-06-24 1035 | WCSO | 01-18-78 | | \$5,000.00 10% \$500.00 |
| 30 | Wright, Amanda L. Lancaster Co | Lancaster Co- 1 st Degree Murder, Assault by Confined Person, Poss. Firearm by Prohibited Person, Possess Stolen Firearm | 09-24-24 1045 | WCSO | 08-20-82 | | NO BOND |
| 31 | Hicks, Jessica C. Lancaster Co | Lancaster Co- Attempt of a Class 4 Felony X2, Concealed Merchandise, Attempt of Burglary X2, Attempt Possession of Controlled Substance X2 | 12-03-24 1134 | WCSO | 05-02-82 | | \$7,500.00 10% \$750.00 NO BOND |
| 32 | Buol, Patricia J. Lancaster Co Sentenced / Pott Co Hold | Lancaster Co- Poss. Controlled Substance, Criminal Impersonation, Shoplifting, Pott Co- FFJ | 11-05-24 1038 | WCSO | 12-22-70 | | Release Date 03-15-25 Bond- \$10,000.00 10% \$1,000.00 Pott Co- NO BOND |
| 33 | Lara, Autumn F. Lancaster Co / Sentenced | Lancaster Co- 3 rd Degree Assault | 10-08-24 1319 | WCSO | 10-18-03 | | Release Date 01-02-25 @ 0800 |
| 34 | Wie, Goanar S. Lancaster Co / Sentenced | Lancaster Co- Theft by Unlawful Taking | 11-15-24 0942 | WCSO | 03-14-94 | | Release Date 01-06-25 @ 0800 |
| 35 | McKinney, Jennifer M. Lancaster Co / Sentenced | Lancaster Co- Poss. Controlled Substance, No Proof of Insurance | 11-22-24 1120 | WCSO | 01-29-82 | | Release Date 01-25-25 @ 0800 |
| 36 | Parker, Marilynn R. Lancaster Co / Sentenced | Lancaster Co- Poss. Controlled Substance x4, 1 st Degree Criminal Trespass | 11-15-24 0940 | WCSO | 01-31-25 | | Release Date 01-31-25 @ 0800 |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|---|--|------------------|-------------------------------------|----------|--------|---|
| 37 | Alexander, Desiree N. Lancaster Co / Sentenced | Lancaster Co- 3 rd Degree Assault | 11-01-24 1047 | WCSO | 05-18-85 | | Release Date 02-26-25 @ 0800 |
| 38 | Yoder, Autumn K. Lancaster Co / Sentenced | Lancaster Co- Criminal Mischief, 3 rd Degree Assault, Disturbing the Peace, Traffic Offenses | 11-01-24 1004 | WCSO | 01-20-00 | | Release Date 03-03-25 @ 0800 |
| 39 | Allen, Haley H. Lancaster Co/Sentenced | Lancaster Co- Interlock Violation, DUS, DUI +.15 Aggravated | 12-03-24 1006 | WCSO | 02-21-92 | | Release Date 03-06-25 @ 0800 |
| 40 | Steffens, Kelly E. Lancaster Co / Sentenced | Lancaster Co- Att. Poss. Controlled Substance x2, Criminal Mischief, Disturbing the Peace | 12-10-24 1003 | WCSO | 04-12-25 | | Release Date 04-12-25 @ 0800 |
| 41 | Oswald, Angela A. Lancaster Co / Sentenced | Lancaster Co- Theft by Deception, Attempted Burglary | 09-13-24 1100 | WCSO | 06-21-79 | | Release Date 05-16-25 @ 0800 |
| 42 | Ironcloud, Amanda R. Lancaster Co / Sentenced | Lancaster Co- Attempted Poss. Controlled Substance, Warrant- Theft by Shoplifting x2, District Court- Poss. Controlled Substance | 08-13-24 1000 | WCSO | 04-19-80 | | Release Date 06-24-25 @ 0800 Appeal Bond- \$2,000.00 Cash District Court - \$20,000.00 Cash |
| 43 | Stoner, Brionna P. Lancaster Co/ Sentenced | Lancaster Co- Attempt of Possession of Controlled Substance, Domestic Assault 3 rd Degree, Assault 3 rd Degree, Violation of Protection Order | 12-03-24 1253 | WCSO | 02-02-98 | | Release Date 09-15-25 @0800 |
| 44 | Kinnett, Aubrey A. Lancaster Co / Sentenced | Lancaster Co Warrant- Shoplifting x3, FTA, Theft by Unlawful Taking | 11-22-24 1055 | WCSO | 05-25-86 | | Release Date 04-02-26 @ 0800 |
| 45 | Hudson, Austin C. OPD | OPD- FFJ | 11-22-22 1757 | WCSO | 02-04-98 | | \$350,000.00 10% \$35,000.00 |
| 46 | Weber, Rebecca S. Saunders Co | Saunders Co- DUI 4th, DUS | 12-16-24 1702 | WCSO | 11-01-74 | | \$25,000.00 10% \$2,500.00 |
| 47 | Cumberland, Lexie Saunders Co / Sentenced | Saunders Co- DUI 1 st , Child Abuse, Resisting Arrest | 09-27-24 1108 | WCSO | 08-22-02 | | Release Date 12-30-24 @ 0800 |
| 48 | Rock, Taysha M. Saunders Co / Douglas Co Hold | Saunders Co- Flight-Escape, DUS, Douglas Co- Fugitive from Justice x2 | 09-24-24 0852 | WCSO | 09-26-89 | | Release Date 01-09-25 Douglas Co- \$10,000.00 |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| 49 | | | | | | | |
| 50 | | | | | | | |
| 51 | | | | | | | |
| 52 | | | | | | | |
| 53 | | | | | | | |
| 54 | | | | | | | |
| 55 | | | | | | | |
| 56 | | | | | | | |
| 57 | | | | | | | |
| 58 | | | | | | | |
| 59 | | | | | | | |
| 60 | | | | | | | |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| 61 | | | | | | | |
| 62 | | | | | | | |
| 63 | | | | | | | |
| 64 | | | | | | | |
| 65 | | | | | | | |
| 66 | | | | | | | |
| 67 | | | | | | | |
| 68 | | | | | | | |
| 69 | | | | | | | |
| 70 | | | | | | | |
| 71 | | | | | | | |
| 72 | | | | | | | |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| 73 | | | | | | | |
| 74 | | | | | | | |
| 75 | | | | | | | |
| 76 | | | | | | | |
| 77 | | | | | | | |
| 78 | | | | | | | |
| 79 | | | | | | | |
| 80 | | | | | | | |
| 81 | | | | | | | |
| 82 | | | | | | | |
| 83 | | | | | | | |
| 84 | | | | | | | |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|----|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| 85 | | | | | | | |
| 86 | | | | | | | |
| 87 | | | | | | | |
| 88 | | | | | | | |
| 89 | | | | | | | |
| 90 | | | | | | | |
| 91 | | | | | | | |
| 92 | | | | | | | |
| 93 | | | | | | | |
| 94 | | | | | | | |
| 95 | | | | | | | |
| 96 | | | | | | | |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|-----|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| 97 | | | | | | | |
| 98 | | | | | | | |
| 99 | | | | | | | |
| 100 | | | | | | | |
| 101 | | | | | | | |
| 102 | | | | | | | |
| 103 | | | | | | | |
| 104 | | | | | | | |
| 105 | | | | | | | |
| 106 | | | | | | | |
| 107 | | | | | | | |
| 108 | | | | | | | |

Signed:

| | Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|-----|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| 109 | | | | | | | |
| 110 | | | | | | | |
| 111 | | | | | | | |
| 112 | | | | | | | |
| 113 | | | | | | | |
| 114 | | | | | | | |
| 115 | | | | | | | |
| 116 | | | | | | | |
| 117 | | | | | | | |
| 118 | | | | | | | |
| 119 | | | | | | | |
| 120 | | | | | | | |

Signed:

| Name | Charges | Received Time | Housed / Scheduled Court Date | DOB | P O | Bond Amount/Release Date |
|------|---------|------------------|-------------------------------------|-----|--------|--------------------------|
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |

Signed:

Signed: